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General :

This Question Paper contains 75 questions. Please check before
starting to attempt. The question paper consists of 6 parts Physics
(1 to 10), Chemistry(11 to 18), Mathematics(19 to 43), Biology
(44 to 50), General Awareness (51 to 65) & Mental Ability
(66 to 75)

Space is provided within question paper for rough work hence no
additional sheets will be provided.

Blank paper, clipboard, log tables, slide rules, calculators, cellular
phones, pagers and electronic gadgets in any form are not allowed
inside the examinaiton hall.

The answer sheet, a machine-gradable Objective Response
Sheet (ORS), is provided separately.

Do not Tamper / mutilate the ORS or this booklet.

Do not break the seals of the question-paper booklet before
instructed to do so by the invigilators.

SUBMIT the ORS to the invigilator after completing the test &
take away the test paper with you.

Any student found/reported using unfair means to improve
his/her performance in the test, shall be disqualified from STaRT-
2015.

. How to fill Objective Response Sheet (ORS) for filling details

marking answers:

Use only HB Pencil/Blue or Black ball point pen for filling the ORS.
Do not use Gel/Ink/Felt pen as it might smudge the ORS.

Write your STaRT-2015 Student Registration No. in the boxes given
at the top left corner of your ORS with blue/black ball point pen.
Also, darken the corresponding bubbles with HB Pencil/Blue or
Black ball point pen only.
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Since it is not possible to erase and correct pen filled bubble, you
are advised to be extremely careful while darken the bubble
corresponding to your answer.
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(X) mark on the option once filled. Do not scribble, smudge, cut,
tear, or wrinkle the ORS. Do not put any stray marks or whitener
anywhere on the ORS.

If there is any discrepancy between the written data and the
bubbled data in your ORS, the bubbled data will be taken as final.

. Question paper format and Marking scheme :
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For each right answer you will be awarded 4 marks if you
darken the bubble corresponding to the correct answer and zero
marks if no bubble is darkened. In case of bubbling of incorrect
answer, minus one (-1) mark will be awarded.
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PART - | (PHYSICS) 4r-| (vifa® fasi)

Straight Objective Type
This section contains (1-10) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.

g agfis sarR
39 @S ¥ (1-10) 95—Awedl ued € | ud% 9o & 4 fAawe (A), (B), (C) 921 (D) &, o & R vap vl
=

The shape of our Galaxy is :

(A) Elliptical (B) Circular (C) Serpentine (D) hyperobolic
TR Hef (rorad) @ Hfy ¥

(A) Sl (BESE (C) afta (DENERIE
Positive electrode of a dry cell is made of :

(A) copper (B) zinc (C) carbon (D) brass

& A BT GHAS Yeldgls a1 BT ©

(A) dfaT @ (B) ST &1 (C) Bred &I (D) Yidat &1
Pressure is defined as :

(A) Force x Area (B) Force (C) Focel/Area (D) Forcel/(Area)?
S9 & g § -

(A) T x &% (B) 1 (C) ga/e=Hd (D) Sa1/(8THet)?

Which of the following is NOT an example of a simple machine ?
(A) A pair of scissors  (B) A spring balance (C) Abeam balance (D) Atong

/1 4 9 P U ORe 9 BT SerERl A8l B ?

(A) DA (B) BAMIGR el (C) S=—gel (D) forer

Speed of sound is least in :

(A) Air (B) Water (C) Wood (D) Steel

eafy o a1l e FHH B §

(A)arg H (B) 5Tt | (C) aHer H (D) &t H

An earphone converts :

(A) Sound energy into electric energy (B) Sound energy into mechanical energy
(C) Electric energy into sound energy (D) Electric energy into mechanical energy
PIS TIRBIF HUART HIAT & -

(A) @ Fo1i @1 fag@ st 4 (B) @f SHoft 1 A3 Soil #

(C) &afy SHott &1 eafy Fott (D) faeg@ St &1 FifFF SHotl 7
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7. Symbol of key present in electric circuit is :
+]| -
A ®) / ©) —e—e— (D) @
faegga uRuer ¥ qofl @1 yelRia fhar Sar g—
+] -
(A) A (B) / C) —e~o—— (D) @
8. If a bar magnet is cut lengthwise into three parts, the total number of poles will be :
(A) 3 (B) 2 (C)6 (D) O
IS U B gD b THIg H A bs PR QU S A1 gal B Hol AT Bli—
(A)3 (B) 2 (C)6 (D)0
9. Light year is the unit of -
(A) Distance (B) Time (C)Age (D) Intensity of light
&1 a9 THE B —
(A) T B (B) THI ®I (C) TG B (D) U1 <adT &I
10. At what angle two plane mirrors should be placed to form 11 images of an object ?
(A) 20° (B) 30° (C) 40° (D) 50°
T AT SO Bl B T wR @ 9 6 RN fa @ g5 gt wfafesl @) S 118 2
(A) 20° (B) 30° (C) 40° (D) 50°
PART - Il (CHEMISTRY) 4FL- || (94 fasim=)
Straight Objective Type
This section contains (11-18) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.
@ g ToR
9 WS H (11-18) 9g—fadedl Ued & | Ud U & 4 fdwed (A), (B), (C) 2 (D) &, o+ & e wa
GHEE
11. The fibres of silk are made up of
(A) fat (B) protein (C) carbohydrate (D) None of these
RS HT T 1 BT B —
(A) 74T ¥ (B) UIEH W (C) BraTEIS ST 9 (D) 7 ¥ BIg
12. When a white cloth having turmeric stain on it is washed with soap,the stain turns red, brown in colour because:
(A) Soap solution is acidic in nature (B) Soap solution is neutral
(C) Soap solution is basic in nature (D) Soap solution is red in colour
T ABE HUS] T W gl & ¥ B © WG A A (AT 11 & 79 98 oflel 3T I BT 8 Sl & Rifdh—
(A) I 1 I el Uafd &1 81l 2 | (B) WIgT &1 fderad ISR 2ren 2|

(C) g BT e &g Ui &7 &I 2 | (D) 9T &1 fAeTa el 37 &1 il 2 |
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13.

14.

15.

16.

17.

18.

When sodium oxide reacts with water it undergoes a chemical change. The name of the product is :

(A) hydrogen (B) sodium chloride (C) sodium hydroxide (D) sodium nitride
9 AT Sifaags STa ¥ fhdl wal 8 a9 Ua IS gRkad gidal g, I &1 A/ R —
(A) ETSSIOH (B) AIfST¥ RIS (C) TifsTH eRsiadss (D) AIfSad EgEs

When copper sulphate reacts with iron it forms :

(A) Iron oxide and Copper sulphide (B) Iron sulphate and Copper

(C) Copper sulphate and Iron (D) Iron sulphide and Copper oxide
9 PR Fehe MRA A f3har &xar 8 a9 I8 94911 & —

(A) MR JHTATES TAT DR FhISS (B) JMRANT Hethe TAT HIWR

(C) IR HehIgT TAT AR (D) 3MRA FehIgS AT HIUR ATFATSS

When carbon dioxide is passed in lime water, it produces

(A) calcium carbonate and water. (B) calcium hydroxide and oxygen.

(C) calcium oxide and hydrogen. (D) calcium hydroxide and carbon dioxide.

9 HreTeRAFAEE B g & U | yarfed fHar Sar g 99 98 991 § —

(A) Dfezrd Brafe qon Sd (B) Bfezrd gIgSiags qu ot

(C) Biczra JNTRATSS AT BISSIo (D) BfczrH TTSgRIfFAZS AUl HE- SSATFES

When vinegar is reacted with baking soda, the product formed is :

(A) acetic acid (B) sodium hydrogen carbonate
(C) carbon dioxide (D) lime water

59 Rt 9fe |ret | foban ovar § 99 991 § —

(A) TAfed 3rat (B) AIfSTH ETSRIoH PEe
(OKIERSESIENIES (D) g &1 U

The instrument used to record the temperatures is known as :

(A) manometer (B) barometer (C) nemometer (D) thermometer
SUYBRYN FTAHT SYAT AT 7199 # fHar Srar g —

(A) AR (B) SRreR (C) fHTHIeR (D) HHIeR
The source of energy produced during waste water treatment is -

(A) LPG (B) bio-gas (C) kerosene (D) petrol gas
T ST &1 SUAR B R FHoll BT S UTa 8Idl & —

(A) LPG (B) 91a 4 (C) BRI (D) Ugrd ¥
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PART - lll (MATHEMATICS) ¥ [1I (T1fora)

Straight Objective Type
This section contains (19-43) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.

Y agfis TR
9 WS H (19-43) Ig—fAdedl e ¥ | Uhd 9 & 4 fawey (A), (B), (C) 72 (D) &, o & R o vl
2l

19.

20.

21.

22,

23.

Of the three numbers, second is twice the first and is also thrice the third. If the average of the three numbers is 44,
the largest number is

A et § gER) WYt ugell | &) gl e A | o) A T R | Af 39 N sl &1 sid 44 81 A
SENICSIRCECH ISR
(A) 24 (B) 72 (C) 36 (D) 48

If x + §=2then the value of x?+ xiz is :
(A) 2 B)-2 (©)4 (D) 16
Jfe x + %=2§ﬁ ar, x2+ xiz BT A9 B
(A) 2 (B)-2 (C) 4 (D) 16

The property represented by ax(b+c)=(axb)+(axc) is

x (b +c)=(axb)+(axc) e i 2|

(A) Commutative Property (B) Associative Property
(C) Distributive Property (D) None of these

(A) AT Torer (B) Fgad Turerd

(C) faa=or ot (D) 379 A I3 7TE

Number of employees in an office is 500. If the number of male employees is 200, then the ratio of males to
femalesis

B Prae™ § SR @1 G&A1 500 B, IS Y9 HHANRAT B G&A1 200 &, A1 9 $1 E B 31U ¢ |
(A)1:5. B)2:3. (C)3:2 (D) 5: 1.

A table-top measures 2 m by 1 m 50 cm. Its area in square meter is

A BT HUN BT 2 m o1, 1 m 50 cm ST B, a1 &5hel i /. B
(A) 1.50 sg.m. (B) 2.00 sg.m. (C) 3.00 sg.m. (D) 3.50 sg.m.
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24, In the given Figure, if EC || AB,ZLECD = 70° and «BDO =20° then ZOBD is —
fed ™ i § afe EC || AB, ZLECD = 70° @a1/BDO =20°d ~OBD&® —

E A
70°
C [@) 20° D
B

(A) 20° (B) 50° (C) 60° (D) 70°
25. The graph x = 15 is a straight line

(A) intersecting both the axes (B) parallel to y-axis

(C) parallel to x-axis (D) passing through the origin

UTH x = 15 &1 ARel ¥@T 811 |

(A) STHI 31&dl BI Bredl gg @ (B) y-31&T & FHIFT<IR

(C) x-318T & AR (D) Ia fag & Tord! g8
26. In given figure find the value of x —y. If QS = RQ.

e T o # x—y 8| T QS =RQ & |

R
S
103°
1480 X°
X P Q

(A) 30° (B) 28° (C) 19° (D) 20°
27. Two poles are 6m apart of length 18m and 10m. Find the distance between their tops.

S @™l & W B g 6m B, RS 18 HAL: 18m g 10m B | I @ & i & wew )

(A) 12 (B) 10m (C) 15m (D) 8m
28. The number of circular pipes with an inside diameter of 1 cm which will carry the same amount of water as a pipe

with an inside diameter of 6 cm is:

fpae afkrg ursy e ) AT 1 99 o O Ush urgy forges) fas) aamg 6 9. & axT16R &l Uil fidTel dé:
(A) 6 (B) 12 (C) 36 (D) 16

29. A man travels I®: 50 km at 25 km/hr, next 40 km with 20 km/hr. and then 90 km at 15 km/hr. Then find his average
speed for the whole journey (in km/hr)

T Ffdd Igot 1550 km, 25 km/hr @1 T &, 3T 40 km , 20 km/hr. & 7If 92m S a1 90 km |, 15 km/hr &)

T 9 FRAT § | 99 YOI A1 & IRE Ard i (km/hr H) 2090 |
(A) 11 km/hr. (B) 18 km/hr. (C) 16 km/hr. (D) 15 km/hr.
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30.

31.

32,

33.

The adjoining Pie Chart shows the marks scored in an examination by a student in Hindi. English, Mathematics,
Social Science and Science. If the total marks obtained by the student were 540. How many more marks were
obtained by the student in mathematics than in Hindi ?

1 g 3T U BTF §RT UTKlis UaRid &_al & | i o137 3=, 3, 7o, a@ifre < den fasm 4 g
540. 37 Tl oy 81 a1 garsy oA o = 4 7 A b a1t sip ured fbdy ?

(A) 30 Marks 3 (B) 10 Marks 37 (C) 20 Marks 3id (D) 50 Marks 3id

The perimeter of the following shaded portion of the figure is :
BIIIfbd W & IRATT 81T |

—17 m—p

< >Im
= nal

(A)40m (B) 40. 07 m (C)40.28 m (D) 35 m
If .b_ .d_ -fh M_
a . =C. =e : fthen b+d+f_
a+c+e
g a:b=c:d=e:fdq brdaf -
(A)a:d B)c:f Ce:d (D)e:f

The H.C.F. of the number 8.4, 0.75 and 60 is
8.4,0.759 60 BT H{.Y. BT |
(A) 0. 15 (B) 1.8 (C) 4.2 (D) 0.32

If a number x is divided by 95, then remainder is 30. If the same number x is divided by 5, then what is remainder ?

IfS TH G x B 95 W AT & d9 Y 30 B8N | AT S AT X Bl 59 W o R Y T AT ?
(A) 2 (B) 3 (C) 4 D)o

(SPACE FOR ROUGH WORK)
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35.

36.

37.

39.

40.

41.

Find the average of all 2 - digit prime numbers less than 20.

ft 2 - 3ifhy Tsg GATU ST 20 W BT B ® &1 3Nd fhadr 8|
(A) 12 (B) 15 (C) 30 (D) 17

Rama is 8 cm taller than Krishna. Hari is 12 cm shorter than Rama. If krishna is 125 cm tall, how tall (in cm) is
Hari?

M HOT H 8 g1 B BR W W 12 I BIel g1 T HON 125 9H ® 99 R B SHars (I H) fhan e ?

(A) 129 (B) 121 (C) 105 (D) 113
) . +2_3X8X5n
Simplify Tond_gyen
5™2 _3x8x5"
5n+l_3><5n ga |

1 1
A) —1 B) 1 C) — D) ——
(A) (B) © > (D) >

Each exterior angle of a regular polygon is 40°, the number of sides of the polygon is -

AHIGHST BT 9T BTV 40° ¥ | 79 9gHST # oY & |
(A) 8 (B) 9 (C) 6 (D) 10

If the length, breadth and height of a cube are increased, decreased and increased by 1%, 3% and 2% respectively,
then the volume of the solid

(A) Increases

(B) Decreases

(C) Increases or decreases depending upon the original dimensions

(D) Increase or decrease cannot be computed with the data available

I B g9 B FeTs dlsls dl Sars I HA: 1%, 3% TAT 2% IS TSI TAT I1T S dd O BT -
(A) e |

(B) T |

(C) &= a1 "eT o faHreli w® fiR & |

(D) ST AT TSI I[N &1 D S FAbell, fQU T 3fidhs gAT TE1 2 |

2
What is the ratio whose terms differ by 40 and the measure of which is7 ?
2 .
Ife <1 ug ST 3R 40 2, 37rgurd 7%‘#{%’3&[?
(A) 16 : 56 (B) 14 : 56 (C)15:56 (D) 16 ; 72

If 5 men can cane 5 chairs in 5 hours, then 1 man shall cane 1 chair in how many hours

(A) 1 hour (B) 15 hours (C) 5 hours (D) 10 hours
fe 5 @fdd 5 R 58 H g & A1, 1afdm 1wl @l fbaw 9 § |
(A) 18 (B) 15 &c (C)5 8¢ (D) 10 ©¢

(SPACE FOR ROUGH WORK)
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42,

The probability of getting a king from a well-shuffled pack of cards will be

TH e BTSS! H IEE b YT B B UTfidmar g8Rf |

1 1 1

(A) 50 (B) 13 ©) 2 (D) 4
43. The mean of six numbers is 15. If 2 is taken away from every number, the new mean would be :

6 TRl @1 HIeg 15§ | Ife sl ¥ 2 "el f&an Sy a1 =3 "ey 8 |

(A) 13 (B) 4 (C) 17 (D) 8

PART - IV (BIOLOGY) ¥V (Sfta fasm)
Straight Objective Type
This section contains (44-50) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.
Y =ghs TerR

9 @S H (44-50) Sg—fAdmedl U B | A% T & 4 fAdwed (A), (B), (C) @1 (D) & 57 < e uab et T |
4. In lichen, the autotrophic partner is

(A) algal partner. (B) fungal partner.

(C) algal and fungal partner. (D) bacterial partner

a1 H Ul ARl 8-

(A) BaD (B) B (C) ®a® d ®HE arl (D) ey
45. The glands situated in the mouth that secrete amylase enzyme are called

(A) salivary glands. (B) pituitary glands.

(C) hypothalamus glands. (D) extra cellular gland

' 4 Rerd ag 7 Sl {5 YISl Trotrsd &1 &0 el 2 |

(A) dR Tfy CEEEEIGED (C) Urgw wifer (D) s1fafRR<s BIfdraT 3y
46. HCL, mucous and digestive juices are secreted by the wall of the

(A) pancreas. (B) stomach. (C) liver. (D) sweat gland

1 % 9 {5 3771 & HCL , ™&a der Tad Il &1 TI07 Bl g—

INERSIEE (B) Ue (C) R (D) T @ T |
47. The top layer of soil horizon is known as

(A) A-horizon. (B) B-horizon. (C) C-horizon. (D) bedrock.

I HURI A7l B fofast 3—

(A) A-farfast (B) B-ferferst (C) C-ferferst (D) Ts™

(SPACE FOR ROUGH WORK)
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The soil mostly used by potters is

(A) clayey soil. (B) red sail. (C) black sail. (D) sandy soil.
TR & gR1 Id: fhd w1 1 ST A forn oman g —
(A) 1 A= (B) ATl AT (C) Brell waT (D) Yol #aT
49, Sometimes after heavy exercise, we feel muscle cramps. This is due to the accumulation of
(A) oxygen. (B) lactic acid. (C) carbon-dioxide. (D) water.
PN — PN ST AR R A FAURET A <G 1Al 8 | 9B BRY 6 & 69d & BRI ®
NEIESISE! (B) «ifde® s (C) ®red ST SifFEs (D) STt
50. Process of removal of water in the form of water vapour through stomata is
(A) transportation. (B) transmission. (C) transcription. (D) transpiration
Wl & gRI 9o &1 bl I Healdl & —
(A) TRTET (B) UfcrerE= (C) TR (D) 99 &1 T
PART-V (GENERAL AWARENESS) 4RIV (|M=I 5TH)
Straight Objective Type
This section contains (51-65) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.
Y =ghs Ter
9 @S H (51-65) 9g—fAdwadl U 2| UAS U @ 4 fdweq (A), (B), (C) @2 (D) &, o 3 et
e 2|
51. What is the minimum age for voting in India :
(A) 21 year (B) 18 year (C) 25 year (D) 35 year
WRA H AAEE B =AaH 9 fhal g
(A) 21 I8 (B) 18 I¥ (C) 25 g9 (D) 35 g9
52. The boundry line between China and India is called :
(A) Machmohan (B) Durend (C) Redcliff (D) None of these
AR AR A9 & g A e Y g —
(A) FpHTEA (B) X7 (C) Yfaerm (D) 399 & B T
53. 'SAARC' was estabilished on :
(A) 1985 (B) 1885 (C) 1986 (D) 1990
S& BT TS g3 —
(A) 1985 (B) 1885 (C) 1986 (D) 1990

(SPACE FOR ROUGH WORK)
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55.

56.

57.

59,

60.

61.

62.

Which Artical gurantees the right against Exploitation :
(A) Article 19 (B) Article 23 and 24

N0l & fawg e &1 Jf¥eR fHa rgeus & o= B —
(A) =0T 19 (B) 3TJ=55& 23 q2AT 24

Who was the chairman of Drafting committee of Indian constitution :
(A) Pt. Nehru

YR Afae & ureu afafq & seger i 97
(A) 1. 8w (B) SI.. I TR (C) ¥IFRTT I ISHR

Who handles executive power of central govermment :
(A) Parliament (B) President of India  (C) Governor

Bg IRl G wfad fea § fAfed g 2
(A) F9E H (B) rgafer

Who is known as " The Iron Man of India"

(C) Tt H

(A) Vivekanand (B) Sardar Patel

HRA $1 ollg gy b $e1 ol 8 —

(A) faaar= (B) ¥RER ucd (C) 1. o= TR
The British East India Company was established in :

(A) 1707 (B) 1748 (C) 1615

qRd H fafce Swe sfoear &¥ = @ e gal —

(A) 1707 (B) 1748 (C) 1615

Our Constitution came into force on :

(A) Aug 15,1947 (B) January 26,1950
EUINESIECIEECIDECCIIR
(A) 15 TR 1947

(C) Oct 2,1948

(B) 26 S=E 1950 (C) 02 3rdcsR 1948

Jalianwala Bagh incident took place on :
(A) 10 April 1919 (B) 12 April 1919
Siferdiarell a1 81 HIUS BT —

(A) 10 319t 1919 (B) 12 319et 1919

(C) 13 April 1919

(C) 13 3T 1919

Human right day is celebrated on :

(A) 10 December (B) 14 November (C) 5 September
g APR g " 9911 Il 8 —

(A) 10 fea=R (B) 14 Fa=R (C) 5 fyaw=r
The richest continent in mineral resources is :

(A) Africa (B) Europe (C) Asia

favg § @foe 9wer & efie ¥ o+ 9e8rgu © —

(A) 3BYHT (B) 19 (C) Thira

(C) Article 25 and 28

(C) 37265 25 and 28

(D) Article 22

(D) 3ruE 22

(B) Dr. Rajendra Prased (C) Bhimrav Ambedkar (D) B.N.Rav

(D) 1. UA. @

(D) Cabinet

(D) #Hsa H

(C) Dr. Rajendra Prased (D) Aurobinodo Ghosh

(D) 3RfI=1 =y
(D) 1600

(D) 1600

(D) Nov 26,1949
(D) 26 Fa=R 1949
(D) 14 April 1919
(D) 14 319 1919
(D) 15 August

(D) 15 37

(D) Australia

(D) 3 foran
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63. Extreme hot and humid climatic region is :
(A) Monsoon region (B) Equatorial region  (C) Mediterranean region(D) Tundra type region

G I Td AT FeAarg U § —

(A) A U= (B) y—¥ed W& Us¥  (C) Y—H ARG Ue (D) Tl g U=
64. Largest desert in the world is :
(A) Gobi desert (B) Atacama desert (C) Sahara desert (D) Kalahari desert

fava &1 GE TS THRAA B —
(A) M BT FHRRIA (B) 3ITCTHTHT BT HHIe (C) BRI bl Ho&d (D) BIABRI Bl AHRe

65. Nile River valley civilisation was devloped in :
(A) US.A (B) Newzeland (C) Egypt (D) Switzerland
e 71 @ qwgan faeiid g3 —
(A) FITT I IFRBT H (B) guireis H
(C) fasr # (D) RacoRels #

PART - VI (MENTAL ABILITY) 9L VI (W-R¥e arere)

Straight Objective Type
This section contains (66-75) multiple choice questions. Each question has 4 choices (A), (B), (C)
and (D) out of which ONLY ONE is correct.

Y g merR
9 WU H (66-75) 9g—fdmed U B | U U @ 4 fAdwed (A), (B), (C) 921 (D) &, R+ 3 et
GRS
Directions (66 to 68) Find the missing term
fAder : (66 W 68) fFforRaa &1
66. 15,12, 13,10, 11, 8, ?
(A) 6 (|7 (C)8 (D)9
67. 7,10,9,12,11, 2,13
(A) 12 (B) 13 (C) 14 (D) 15

(E) 16

68. IfAZ=27;DY=29;and GX =31 whatis FZ="7?
(A) 32 (B) 33 (C) 34 (D) 35

(SPACE FOR ROUGH WORK)
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Directions : In questions (69 & 70), you are given five figures marked 1, 2, 3, 4, 5 called the Problem Figures followed by

other figures marked A, B, C, D called the J,nswer Figures. Select a figure from amongst the Answer Figures,
which will continue the same series as established by the Problem figures.

fAder : yed E=1 6910 70, 1, 2, 3, 4, 5 M ¥ 3ifhd Urg FHRTHS MGl AR A, B, C, D 3(di I AMHT IR FHIG

69.

70.

JMFIrAT H A THh Y BT AU T TS NPT §RT 99 HH Bl RO T& Hel 2 |

Problem Figure

O | «O | O | PO | ¥O

L) @ ©) 4) ®)

Answer Figure

PO~ | 3O~ | 2O~ | POy

@w ® © O

Problem Figure

—

| ]
m @ @ @ 6

Answer Figure

@w 6 © O

Directions: In questions 71 & 72, letters/numbers series are given and some letters/numbers are missing. The missing

letters/numbers are given in the proper sequence as one of the alternatives among the four given under each
guestion. Find the correct alternative in eadl case.

Ade 1 71&72,TF & U US qUll / 3] S WR AR 8, NH A $© 9vI/3F I« © | < 991,/376 &R U & A

71.

72.

fau T AR fwedi 4 3 & © | S P94 fay 1Y Jawed &1 g |
b-ab-a--ba-b

(A) ababa (B) bbbaa (C) ababb (D) baabb
ab-cb-c-c—-b
(A) bcaaa (B) abcab (C) acbca (D) aabbc

(SPACE FOR ROUGH WORK)
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Diretions (73 & 74) : find missimg term :

0202080000020
© O ()

(A) 235 (B) 141 (C) 144 (D) 188
7
63
74. 2| 14 2 |9
30
15
(A) 18 (B) 33 (C) 145 (D) 135
75. In a certain language if RAIN is called WATER, WATER called ROAD, ROAD is called CLOUD, CLOUD is called

SKY, SKY is called SEA, and SEA s called CLOTH, then where do aeroplane fly?
Ife fH< A1 § RAIN @ WATER, WATER &1 ROAD, ROAD &1 CLOUD, CLOUD @! SKY, SKY @I SEA, 3iR

SEA &1 CLOTH &8 WTal 8, d1 gaT8 Siglol dal Ssd & ?
(A) ROAD (B) SEA (C) CLOUD (D) WATER

(SPACE FOR ROUGH WORK)
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